1.Scrie ca putere:

g} 2135 : 2100 -
h) 532 . 523 =

d} 211 + 2]] =
g) 3’ +3 43 =~
f} 510 + 510 + SID + 510 + 510‘ e

4. Completeaza casetele cu unul dintre semnele <, =, > astfel incat afirmatiile sa fie adevarate:

a)2:25.27= d) 2.2 2%...-
b)76-73-7 = e} ()=
¢) 11911 11" f) (59 =
2. Scrie ca putere:
a) 210.32 =
b) 81.37.3%=
c) 2V 45 -
3. Scrie ca putere:
3) 2% 29 = f) 3%:81% =
| i e B g) (27)° =
C} 912:93 = h) (53)4 =
d) 233 . 2?0 - |} 220 . 52[] -
e) 270: 83— f) 12%: 6% =
a) 2% | | Y i d) 8V
b] 2504 _ 3504; e) 2517
¢) 4% L] 2. f) 278

3210; g) 2300 — 3100;
125 h) 3% [ ] 5%;
912;
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